| Efficiency vs Dxy |

=, 0.2
5 F
0.18

[
>

20.16F
S -
50.14F

O
=
(]

Ratio

0.12

o
=

0084
00654+
0.04f |41
0025+

................................................

.......

NN

095

-15 -10 -5

el

=

| 1

10 15 20

TP dxy (cm)

C
C
m

AN
'I'I'I'I'I'

—a— D

. - D

| Efficiency vs Dz | |—— 1B
—

—+—— D

N
©

>
c
Q
©

Ratio

20.18
> C
20.16
20.14F
() C

0.12F

0.1
0.08F
0.06
0.04H
0.02f+
G-I 1 1 1

-Test_1000evt
REFT test_1000evt
|tREF|t test 1000evt
NANTESTCKF TO000
NANTEST 1000evt

evt

0.2

...................................................

1

0.9

10

20

30

TP dz (cm)




	Contents
	Page 1


